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Section - 1

Instructions for Q. 01 to Q. 03
Read the passage and choose the correct option :
I was nineteen when I saw my first tiger in the wild, and it was every bit as

trilling as 1 had imagined. I was in Kanha Tiger Reserve in Madhya Pradesh,

seated on a young tame elephant that was barely six feet tall. The elephant
and its teenage mahout were being trained to track tigers. I sat behind the boy
mahout and hung on to a rope. Suddenly, a sight of cute tiger caught my eye.
There behind the narrow path, sat a handsome young tiger. For a heart - stopping

moment, we looked each - other with mutual surprise.

01. The writer saw his first tiger at the age of ...............
(1 13 (2) 90 3) 19 4) 20

02. Choose the correct two options.
Where did the boy notice the cute tiger?
(1) in the kanha tiger reserve (2) near the elephant
(3) behind the narrow path (4) in front of the mahout

03. Choose the two correct options.
Who was trained to track the tigers?
(1) the elephant (2) the mahout (3) the tiger (4) the boy

SPACE FOR ROUGH WORK
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04. Choose the correct option.
The climate of Chennai is hotter than the climate of Bangalore.
In the above sentence the comparison is about ....................
(1) Chennai (2) Bangalore
(3) Climate of the city (4) City

05. Look at the following picture of clock and find out one correct alternative.
The clock shows ...................

(1) quarter past 3

(2) quarter to 2

(3) quarter past 1

(4) quarter to 3

06. Choose one correct alternative from the following option.
The scientific study of metals and their uses means .................

(1) allurgy (2) metallurgy (3) chemistry (4) extract

07. Find out the words which is related to ‘parts of plants’ leaves, flowers, stem.........
(1) bark (2) feather (3) horn (4) soil

08. Read the following sentence and choose one correct alternative of the underlined
phrase.
When teacher announced holiday, all the students sprang up from the benches.
(1) return to original place (2) quick m
(3) cheerful (4) particular season

SPACE FOR ROUGH WORK
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09. Read the following responses in the following web choose the correct alternative.

That’s too sad
|

That’s bad ? — That’s terrible
|
><>: 7 Sorry to hear that
A (1) good news (2) appeal to save water
(3) victory (4) bad news

10. Choose one correct alternative. |
)
What is it ? - Which begins with ‘T’, ends with ‘t’, and has W in it?
(1) time (2) tea-pot (3) pot (4) tea

Instructions for question no. 11 and 12

Read the advertisement and choose one correct alternative.

Time for ‘Back to School’

Don’t wait, come fast
Fill up your pouches with

. . Our features
get pens, pencils, erasers, pro-circles, 1) good quality

whiteners, stickers etc. 2) reasonable rate

3) no exchange
4) no discounts

At knowledge stores

Contact us - www.kst.com

11.  Choose the correct option.
What is the name of the store?
(1) Knowledge store (2) Don’t wait, come fast
(3) Fill up pouches (4) Back to school

SPACE FOR ROUGH WORK

0722 / Telugu Set-A 4 of 32 Contd...



12.

13.

14.

15.

16.

How much discount we get on - pens, pencils etc?
(1) 10% 2) 20% (3) no discounts (4) 50%

Choose one correct alternative.

Find out the object and its colour from the grid.

Bl AlC (1) APPLE - RED
P|P|M (2) MANGO - YELLOW
E|P A (3) PEAR - GREEN
AlLIL (4) CHILLI - GREEN
R|E|D

Choose two options from the following tree diagram of wrong pairs.

(' Time 0% the day )

® @ ® @

| morning | | afternoon || evening || night |
| Fresh || bright |[ tiny || white |
(1) 4 2) 2 3) 3 “4) 1

Choose one correct alternative for the underlined word.

Ruby’s teacher suggested to practise a lot of exercises.

It was a good advice.

(1) noun (2) verb (3) adjective (4) adverb

Choose the alternative. Which word is wrongly used in the following question.
Do she recognize her childhood friend?
(1) recognize (2) friend 3) do (4) childhood

SPACE FOR ROUGH WORK
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17.

18.

19.

20.

21.

Read the following sentence and find out the type of sentences. Choose one
correct answer.

Sancho Panza said, “God bless me!”

(1) Imperative sentence (2) Exclamatory sentence

(3) Assertive sentence (4) Interrogative sentence

Choose the correct alternative to complete the sentences.

Sakshi and her friends have lot of homework to complete. So they ......... not
come to party.

(1) might (2) need (3) may (4) do

Complete the following sentence using simple past tense. Choose one correct
alternative.

Once upon a time there was a girl called Alyonushka. Alyonushka ............. with
her parents and baby brother.

(1) live (2) lived (3) will live (4) lives

Find out the sentence which is not in active voice. Choose the correct option
1) Honey is made by bees

2) I saw him opening the box.

3) I was offered a chair

4)  The letter was written by the clerk.

(1) 4 2) 2 3 1 4 3

Complete the sentence using correct alternative.
The teacher said that the earth ............ round the sun.
(1) go (2) had gone (3) goes (4) will go

SPACE FOR ROUGH WORK
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Instructions for question no. 22 and 23

22,

23.

24.

25.

Read the passage and choose the correct alternative.

Wikipedia is called the free encyclopedia. You don’t have to buy it from the

N

shop, borrow it from a library or pay any money to be able to read it on the PP

net. At one click of the mouse, it is there for you to read. It is available on the

world wide web (www). It contains information on thousands of topics in form

of articles. Wikipedia is operated by the Non-profit Wikipedia Foundation.

Wikipedia is easily available at ......................
(1) shop (2) library (3) mall (4) net

The information on wikipedia is ................
(1) in form of couplets (2) in form of dialogues

(3) in form of articles (4) 1in form of table

Choose the correct option

‘Drop everything and read,

‘It’s an access towards success’ This slogan is related to ...................
(1) plants (2) library (3) reading (4) fame

Choose the correct option.

Bina sent message, “How was your exam?”

She got an answer, ‘ez’ can you guess the meaning?

(1) easily (2) with ease (3) easy (4) difficult

SPACE FOR ROUGH WORK
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SECTION - II

INTELLIGENCE TEST

Q. 26 and 27 :

26.

27.

28.

29.

Use the given number series.

|23572467328294357126

In the given number series how many times the sum of two adjacent numbers
gives a prime number?

(1) Six (2) Seven (3) Five (4) Eight

Which number occurs maximum times in the given series?

(7 2 3 3 4 4 2

Form a meaningful word from the letters ‘R E O M’. What is the position of
the letters in this word which is used to indicate the word ‘Options’?

(1) fourth, second (2) second, third

(3) first, fourth (4) first, third

In the given alphabet series which letter is seventh to the left of the letter which
is eighth from the right side of the series?

() K 2 O G M 4) A

SPACE FOR ROUGH WORK
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SECTION - II

2089385, 5dg

89, 26 50800 27 E°55 aT@ES ©080SrdER &DBPA0HOE.
wosesrds 23572467328294357126

26.  asE&ES 290805 TS [DE,05,50© B0t 080 I0HO HGPD DOY; 0D, ATP DY
Sy ?

(1) e 2) 9@ (3) s (4) 223200

27. faésaa&é 2908057DES0 DESNE D ©08 JDD ?

(7 2 3 3 4 4 2

28,  ‘e3 50 ™ B 53 FTOS BOIFPOMH OYS0BZ0D DES0SMD OBBES0MP D (BDSD 9500
VoF HNE SBO5 HEO BATPGIHI ?
(H 1,2 2 1,3
3 1,4 4) 4,1

29. 3585 w0fn o5eardsS? HABD0E VPGS WETRS ESJP IES ST ?

() K 2 O 3 M 4) A

SPACE FOR ROUGH WORK
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30.

In the given alphabet series which of the following pair of alphabet is at the
same distance from the alphabet which is at the Ninth position from the left of
the series? (Select two correct alternatives.)

(1) FL (2) BN (3) BL (4) OC

Q. 31 to 35 Choose the odd term

31.

32.

33.

34.

35S.

(1) Divine (2) Deity (3) God (4) Ghost

(1) Loose motion (2) Malaria (3) Cholera (4) Dysentery

(1) (2) (3) (4)
(1) 210 2) 336 (3) 150 (4) 504
(1) CH (2) EI (3) LB (4) FD

Q. 36 to 40 Direction : -

36.

In each of the following questions relation between 3rd and 4th term is similar
to that as between 1st and 2nd term. Find the term to replace the question mark
from the given alternatives.

Cause : Reason : : Perfect : ?
(1) Pure (2) Imperfect (3) Idle (4) Ideal

SPACE FOR ROUGH WORK
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30. w533 woff wErsrdES? SRS ©ETo0d PErS GrsoSiie wsme w@E 98 2
(Bocd BOGHS HoREIPORO OB )
(1) FL (2) BN (3) BL (4) OC
®. 31 Sood 35 E°5ED et : IS8 oA DG HYOS0&.
31, (1) ooy (2) smes (3) oA 4) 33,
32. (1) =80 (2) e (3) aeen (4) ©&se0
33.
(1) (2) 3) (4)
34. (1) 210 (2) 336 (3) 150 (4) 504
35. (1) CH (2) EJ (3) LB (4) FD

®. 36 5008 40 E°5E D3t : (9TT0000FENT0 MHYOD  (HFIT @8(‘60&35 DOXUODSD ST

2
[guloletalela

36. ST RBE0 1 Togy DODTREHTE0 2

(1) eso (2) DIBHD (3) s (4) oo

SPACE FOR ROUGH WORK
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& 0
@ Q |0 |0
0 @

(2) (3) (4)

38. 69 : 123 : : 48 : ? (Select two correct alternatives)
(1) 112 (2) 102 3) 80 (4) 84

39. 394 : 54 : : 875 : ?
(1) 55 (2) 94 (3) 140 (4) 146

40. ADJ : BFM : : CIO : ?
(1) DKR (2) ELR (3) DKAQ (4) DJP

Q. 41 to 45 Direction :-
In the following series, determine the rule underlying the series and find out the

term to replace the question mark.

41. 812, 715, 626, 543, 464, 391, ?
(1) 316 2) 320 3) 318 (4) 309

SPACE FOR ROUGH WORK
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37. i @ O
(1) (2) (3) (4)

38. 69 : 123 : : 48 : ? (Boto 0D DTOITOO DYO0E)

(1) 112 (2) 102 3) 80 4) &4
39. 394 : 54 ::875:7

(1) 55 (2) 94 (3) 140 (4) 146
40. ADJ : BFM : : CIO : ?

(1) DKR (2) ELR (3) DKQ (4) DJP

8, 41 Hood 45 E26K QS @ SrOSER HIITE0 RIoS O HoOLED SWY® 1HYOBOE.

41.

812, 715, 626, 543, 464, 391, ?
(1) 316 2) 320 3) 318

(4) 309

SPACE FOR ROUGH WORK
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42.

o
Opp o0 &)

©00°

(1)

(3)

3. oNBABHOEHOADAIAMSIM? ?
1 DA 2 OA 3 oM @ AOD

44. BC, EG, HK, KO, NS, ?
(1) NR 2) QK 3) EG 4) QW

45.  YXW, XVT, WSP, VOK, ?
(1) UJE (2) UJF (3) YKE (4) XKE

46. Select the wrong term in the given series :
13, 16, 22, 26, 38, 62, 76, 102
(1) 38 2) 62 3) 76 4) 16

SPACE FOR ROUGH WORK
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A B CD E F G HI J|IKLMNDO P QRST|UVWXY
42, / //\
9 9 9
(1) (3)

3. SABABEHOEHQOAOAMAMSMIM? ?

1 DA 2 OA 3) O] @ AOD
44, BC, EG, HK, KO, NS, ?

() NR 2) QK (3) EG 4) QW
45, YXW, XVT, WSP, VOK, ?

(1) UIE (2) UIJF (3) YKE (4) XKE
46. 8o aPWAD SrDES? B0, DHESVW HYOSOS.

13, 16, 22, 26, 38, 62, 76, 102

(1) 38 2) 62 3) 76 4) 16

SPACE FOR ROUGH WORK
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47. Find the hidden part of the question figure from the given alternatives.

Question Fig. Answer Fig.

_

(1) ) 3) 4)

48.  Choose the figure from the given alternatives that exactly matches the question figure.

Question Fig. Answer Fig.

CIRCIAVIAN 1ACY,

(1) 2) 3) (4)

49. Choose the correct alternative to complete the question figure :

Question Fig. Answer Fig.

(1) (2)

SPACE FOR ROUGH WORK

(3) (4)
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47.

48.

49.

L&)@%@éﬁ TPADD, GRS D éovéod)méﬁ @080 190508,

58 2350200 e85,

_

(1) (2) (3) (4)

DTGNS0 S0 WOR GIO GILNTO 5B DHTOIPO0E OB,

DrERS 5B Hry DODOLE OGP DUROVEVM MHYOSOE.

B350 2350020 e85,

X

(1) (2) (3) (4)

SPACE FOR ROUGH WORK
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50. Observe the numbers in the grid and choose the correct alternative to replace the

question mark.

716 8
28| 4 | 2
1212115

(1) 34 2) 60 3) 17 (4) 40

Q. 51 and 52 Direction :
A square sheet of paper is folded and cut as shown in the question figure. How
will the figure look like when the paper is unfolded. Choose the correct alternative.

51.  Question Fig. Answer Fig.
() @) 3) @

52.  Question Fig. Answer Fig.
| (1) @) 3) )

SPACE FOR ROUGH WORK
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50. @3S0 @géoéﬁ D DOPETRTO HOOTPOFTI0E DYOSOE.

7168
28| 4 | 9

12 2 |15 e

L

(1) 34 2) 60 G) 17 4) 40 e

2N

8, 51 Hodow 52 2B WSS : SoESBLS S5 BOASS0S DoROIrOSD O e5d

Do BJ2e00  ?

51. DT5E

(1) (2) (3) (4)
52. BT asaoe) es5d
(1) (2) (3) (4)

SPACE FOR ROUGH WORK
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Q. 53 and 54 Direction :

53.

54.

5S.

In the given Venn diagram numbers in circle represent farmers, numbers in triangle

represent teachers and numbers in rectangle represent doctors.

5 / 4 8

How many teachers are farmers also?

(1) 6 2) 13 (3) 24 4) 17

By how much is the number of doctors who are doing only farming is more or
less than the number of teachers who are only doctors?

(1) more by four (2) less by four

(3) more by two (4) less by two

If Maharashtra Day occurs on Wednesday then which of the following day will
occur five times in the month of September in the same year? (Select two correct

alternatives)

(1) Sunday (2) Saturday (3) Tuesday (4) Monday

SPACE FOR ROUGH WORK
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N,

ABCDE|FGHIIJ|[KLMNO|[PQRST|UVWXY B4
/2
‘0’4‘!

N7
2N

L3N 53 550900 54 £25E eSS ¢

808 IS 95%8955 ée)éjoés BB Do, (B 9230850 GBPEOTO  HOP 500N &gé@@o

&0 BE%® Do SPHVE0D.

710

\X 6
3
S3. 385 edgeoive $ogy d08 ?
() 6 (2) 13 3) 24 4) 17

54. 3500 S@RP0N0 BOH PEE B0y, S500 BEABD GDREATOOET, OB DE,S Swe BES

g0t ?
(1) meeorDd 2508 (2) e &5
(3) Boco DB (4)  Bowo B8

55. a5 3¢ ‘wovroy oFfEmsn’ wgmto el g8 dRowd I O mosver 0 6
Spod ? (Bocd HOGH DTOIPOR HYOS0E )
(1)  esoas50 (2) RS0 (3) Soorgarssn  (4) ASODRSED

SPACE FOR ROUGH WORK
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8.

59.

56.

57.

Abhishek is watching the sunset, he turns three times at right angle to his right,
then which direction is indicated by his left hand?
(1) South (2) East (3) West (4) North

Akshay is standing at the 19th position which is middle of the row. If last eight
students leave the row then what is the position of Prasanna from back of the
row who is at the ninth position from the front of the row?

(1) 20 2 19 3) 29 4) 21

Find the pattern of the numbers in the given arrangement and choose the correct

alternative to replace the question mark.

2 5 6 4 10 2 1 12
18 35
8 3 7 5
(1) 15 2) 30 (3) 24 4) 27

Find the total number of triangles in the given figure?

(1) 15 2) 16 3) 17 4) 14

SPACE FOR ROUGH WORK
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A B CDE

F G H T

K LMNO

PQRST

UuvwXxXy

56. 9nE RPTRGRIS0N SPRTOED 9,650 B SOTPEIIPE ©025 00w BAJY BOB O0D

SR S [o OF DO ?

(1) @8es0

(2)

&350

) 3)

D00

(4) egoo

57. oS00 05 195 550080 @5 Aoad HRed. s SIS D50 IO, H0d

Drgen B8, IEB S0 Tod EQS EoSe [pRmo,d s, BSOS S5 008

R

(1) 20

58.  Dop@a3ns, @085 Soe@ed), e0e30d (DEDHE0 @g;soesﬁ O DTXOMESND S 1HYOSOE.

(1) 15

2)

19

3)

59. 95%8955 3080 N, (BegHered Oy ?

(1) 15

29

6 4 10 2 1 12
18 35
3 7 5
2) 30 (3) 24
(2) 16 3) 17

4) 21

4) 27

4) 14

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

What is the total number of cubes in the given question figure.

() 35 2) 29 (3) 28 (4) 30

The ratio of ages of A, B, C is 5:7:12. If age of ‘B’ is more by two and a half
years than age of ‘A’, then what was the age of ‘C’ two years before?
(1) 13 years (2) 10 years (3) 12 years (4) 15 years

In the clock, at what time the angle between hour hand and minute hand measures
75° ? (Select two correct alternatives)

(1) 30 minutes past nine (2) 30 minutes past two

(3) 30 minutes past three (4) 30 minutes past eight

Choose the mirror image of the question figure from the given alternatives.
Question Fig. Answer Fig.

(1) 2 3) 4

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

208 Q:S%@E’SS 300 V), FOJoeD O ?

\

D7
I )
D

ZN

(1) 35 2) 29 3) 28 (4) 30
®, 2, § & S0MO WIESVY, S0V IR 5:7:12 sowd ‘@’ 550, ‘@’ S0
BoGORT VOSBTOD B BOD. WONS ‘B’ SO G0 VOSSP BB0 Do&B 0B ?

(1) 13 Sossoeen  (2) 10 Sossoeen  (3) 12 Sossoeen (4) 15 Sossoren

HEOIPE0S0 150600 500050 JDOEPe SO S D [S0aM0Se 75° Sesore Edso

Do ?
(1) 9 ro. 30 a. (2) 2 ro. 30 2.
(3) 3 ro. 30 a. 4) 8 ro. 30 2.

RESID @RHB B, PESD ©Eod® der 5SS HYosod.

AN 235020 858

() @) 3) )

SPACE FOR ROUGH WORK
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Q. 64 and 65 Direction :-
Choose the water image of the question figure from the given alternatives.

64. Question Fig. Answer Fig.

NIS|IN|IN] [ XN} [ X M| W
ZIM| [Nje| |(We| [Ue| SN

ANANNNNNNNNNY (1) ) (3) 4)

QW)

65.  Question Fig. Answer Fig.

TR (1) 2) 3) 4

SPACE FOR ROUGH WORK
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K LMNO

F G H T

A B C D E
&%, 64 500000 65 E25E eSS

0890508,

BT H 308, e Doerd, DHoROIre F0%k

2333020 eﬁ%@

1

A\

c

7

e

7

e

N

N

S

N
/

(4)

3)

(2)

(1)

2300200 eai—‘:e)é’é

65S.

(4)

3)

(2)

(1
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Q. 66 to 68 Direction : -
Observe the following pyramid of numbers and the sequence of terms given in

the questions that follow. Choose the correct term from the given alternatives to

replace the question mark.

35
19 16
23 13 27
36 33 24 38
32 17 39 12 15
11 25 22 20 34 28
18 14 37 31 26 21 10

66. 11, 17, 31 : 37,22, 32 : : 28, 12, 31 : ?
(1) 21, 34, 38 (2) 26, 20,38  (3) 26,20, 15 (4) 26, 34, 15

67. 23, 33, 17 : 12, 24, 27 : : 32, 25, 14 : ? (Choose two correct alternatives)
(1) 26, 20, 38 (2) 31, 22, 39 (3) 34, 12,27 (4) 21, 34, 15

68. 18, 32, 14, 17, 37, 2, 31, 12
(1) 24 2) 27 (3) 39 (4) 38

Q. 69 to 71 Direction : -
Identify the rhythmic arrangement of terms given below and find the correct term

to replace the question mark.

69. abcdebbcdeac?dea?ddeab?ece
(1) ¢cbd (2) bbec 3) ccd 4) cbec

SPACE FOR ROUGH WORK
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05, 66 $o0& 68 E5L> WSS
208 FIYBS0H HO8D0S0B.

35
19 16
23 13 27
36 33 24 38
32 17 39 12 15
11 25 22 20 34 28
18 14 37 31 26 21 10

66. 11, 17, 31 : 37,22, 32 : : 28, 12, 31 : ?
(1) 21, 34, 38 (2) 26,20, 38 (3) 26, 20, 15 4) 26,34, 15

67. 23,33, 17 : 12, 24, 27 : : 32, 25, 14 : ? (Bocd> S HOATrOD HYOS50E)
(1) 26, 20, 38 (2) 31,22,39 (3) 34,12, 27 4) 21,34, 15

68. 18, 32, 14, 17, 37, 2, 31, 12
(1) 24 2) 27 (3) 39 (4) 38

508, 69 w00@ 71 255 Ruiss:
ATPED OADVZPOD OB IFDES, DEDTED APFoS O DO HORADESD @B

oos0d ?

69. abcdebbcdeac?dea?ddeab?ece
(1) ¢cbd (2) bbec 3) ccd 4) cbec

SPACE FOR ROUGH WORK
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70.

71.

O+AXIXLOO+FA?IAX?OLO+2XAXLTO+
O +OA @ +AA & XOA @ +LJO

012123234345422227678789
(1) 5645 2) 4564 3) 5656 (45675

Q. 72 to 74 Direction -

72.

73.

74.

75S.

In a certain code language MAT is written as ‘427°, CAN is written as ‘584’
and NOT is written as ‘597°. The relation of letters and numbers may not be

one to one.

Which number represents alphabet ‘C’?
H 4 2 5 3 38 4 2

What is the code for ‘EAT’?
(1) 547 (2) 247 3) 289 (4) 147

M+C-T=7?
(1) 5 (2) 3 3) 2 4) 8

Observe the numbers given in the grid and choose the correct alternative to
replace the question mark. (Select two correct alternatives)

73 | 2 | 6l
50 | 43 | 71
47 | 67 | 53

(1) 37 2) 41 3) 79 4) 77

SPACE FOR ROUGH WORK
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70.

71.

O+AXIXLOO+FA?IAX?OLO+2XAXLTO+
O +OA @ +AA 3 XA @ 1O

0121232343454222276787809
(1) 5645 2) 4564 3) 5656 (45675

LN 72 S00& 74 825 Q5et5S:

8.5 A0SR grAS DT DEHVI 427 qer AR, ©NS’ DS 584° qer ToRRMm

$S0OaT0 ‘risses’ DS 597’ ger TERRGD. ©0VT ...

72.

73.

74.

75.

‘@ 89055 Q 9030 &DA3TA0TODD
() 2 2) 5 3) 4 “4) 7

'8' B O ©FBS0 &BDAIPA0TE
(1) 48 % 2) 59 o 3) 52+ (4) 98 &

7+ D0 X3 = dogs ?
(1) 17 2) 23 (3) 47 (4) 34

PoRE BT, @SR BFPER), 0YOD (DHHEDT7E0 PT0S? D D0g@0SBYT°  DodAIF
o0& r0gosod. (Bocd JOGINS HTXAIPORD 11HQoS0E )

73 | 2 | 6l
59 | 43 | 71
47 | 67 | 53

(1) 37 2) 41 3) 79 4) 77
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